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Parliamentary system
Mixed electoral system
Modernization theory
Behavioralist approach
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Political communication
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1. (10 points) Explain why the optimal amount of pollution is often not zero.

2. (20 points) Sometimes increases in the wage rate will cause individuals to
work more hours. It is also the case that this same increase could cause people

to work fewer hours. Please illustrate and explain what is happening to cause

this variance?

3. (20 points) Draw indifference curves that reflect the following preferences.
(a) Pencils with white erasers and pencils with pink erasers
(b) Left shoes and right shoes
(c) Potatoes and rice

(d) Income and polluted water

4. (20 points) You are the liaison (% # A)between the Central Bank and the
Ministry of Public Finance. Your goal is to coordinate policy-efforts to achieve
full-employment output in the economy while keeping a fixed real interest rate.
You must recommend tightening or easing both monetary and fiscal policies to
do this. What would your recommendation be in each of the following
situations? |

(a) People decide to increase saving.
(b) Expected inflation declines.
(¢c) The future marginal productivity of capital declines.

(d) There’s an adverse oil price shock.
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5. (10 points) In addition to investment in vphysical and human capital, what other

public policies might a country adopt to increase productivity?

6. (15 points) Suppose the economy is initially in long-run equilibrium. For each of

the shocks listed below, explain the long-run effects on output and the price level.
(a) Labor supply decreases.
(b) The government shuts down National Development Council (B £ & &
Ba)

(c) Productivity increases.

7. (5 points) The government of a small open economy announces a tax cut of $100
this year, combined with a tax increase of $110 next year, when the interest rate is
10%. What are the effects of this change on the world real interest rate, national
saving, investment, and the current account balance in equilibrium when Ricardian

equivalence holds?
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1. Hajigure moaxoasnymii oTBeT Ha BONPOC.

Coenunure cioBa npaBoii u Jesoii Kook, (33%)

1. O6pasern: Bompoc: A.- Kax Bel xupére?
OtseT:  A. (B)

A. —Bawm He xanko e&€?

b. — Bam ne xapko B my6e?

B. — Brr Bcerzia BonmHyeTech Ha 3x3amene?

I — Brl myqme ce6st aysctByeTe?
J. — Br1 He nporosonanmcs?
Moxer, moobenaem?
E. — KT0 651 310 MOT cienars?
E. — Heyxemn B Ha MeHS 06uaemcy?
X. — Hy n xax tBOM ycmexu?
3. — Yro BHI Takoi BecEmBIi?
H. -V Bac gro-to cnyumnocs? Ha Bac mura mer!

B. - Criacu60, Hruero. A Bpi?

a. — Jla HeT, ceronHs XOJOIHEIA BeTep.
6. — la, MBe Bcerma kaxercs, 9To 5
HHYEro He 3HAI0.
B. — K10 ero 3maer...
Huxro cam He co3Haéred.
r. — He Bospaxaro. ['oo/teH kax BOJIK.
I. — Her, ue obunenace, koneqno. Ho Bamu
YIODEKH MHE HENPUATHEI.
e. — Ouensk xainko. Ho uem s Mory noMous?
€. — Hactpoenmue xopoiee.
x. — [ToxBacTaTecs, K COXANCHHIO, HEUEM.
3. — Cnacu6o, yxe BeI3iopoBea.
u. = 5 nnoxo cebs uyscTBYI0. ['0MNOBa
KpYXHTCA, B 3HOOUT.

2. Yro meI ienaeM pyxamu? ITonGeprre COOTBETCTBYIOMIUE CYUIECTBHTENLHBIE M IIIAr0IEL.

A. Oenpé 4. BKIOYaTh/BHIKIHOYATH
b. nBeps 6. ramgaTh
B. nenrnru B. JiepXaTh ’
I  xapruna I.  KpyIWTh
J.  xommsrorep A. JIoMarh
E. HOX u BmiIKa €.  MBITb
E. oxmo & HecTH
X. mnanka XK. OTKpBIBAaTh/3aKPHIBATh
3. pebénox 3. Ie4ararh
H. pyne mammuse H. IHCaTh
K. cser K. IUIATHTH
JI cymxa . pHCOBarh
M. Tterpams " M. CTHpaTh
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3. Kaxum npeaMeTaMur HOJB3YIOTCS 3TH JOAU?

A. aBTOMEXaHHK a. BECH

b. Oyxranrep 6. nmomkpar

B. wmansp B.  KaNbKyIaTop

I mencectpa I.  KHUCTBb

M. mnopruoii I.  KOMIIBIOTEp

E. nporpammucr e. Jomara

E. mnponmasen &  momsbepr

X. capoBHuK X. OTBEPTKA

3. XYOOXHHK 3. IUIIpHIL

H. snextpuk H. IIBCHHAsT MallwHa

I1. ITepeBennTe clieayOmMue TeKCTHI HA KHTANCKUI S3LIK. 27%)

1. Drot rox cran nepenomuem. Mpowsomen HEPECMOTD IIPUHIUIIA OPTaHU3AFH YIPEKICHHH
AN AEeTeH-CHPOT — 9UTO OHHM JOIDKHE! OBLITH YCIPOCHEI TIO CEMEHMHOMY THITY. DTO IOMBITKA
BBICTPOHUTE MX paboTy yiKe He C TOUKU 3pEeHHs KOIIEKTHBHOTO Ka3apMEHHOTO YUpeXACHHS, a ¢
TO'IKH 3pCHUA yIPEKNCHNUS, KOTOPOE JOIKHO OBITH TaKOM PACIIEHHO IIPUEMHON ceMpH.

2. Jlaypear KamHcxoro ¢ectuBans, "Jlesuagan" cobpall BHYIIHTENLHLI "Oyxer" Harpan
€BPONEHCKUX KHHO(ECTHBaNel — B WacTHOCTH, 0H 3aBocBay [ par-npu 58-ro JlommoHCKOro
xuHO(ecTHBand, ['pan-npy decrusans B Mrouxene, raBHb HpU3 KHEODECTHBANT B cepbckoM
HNanwmye, I'pan-npu pecrusans s Erunte, npemuro "3onoto# rmobyc”. Kapruna, TIOBECTBYIOINAS O
TIPOTHBOCTOSHAY YENIOBCKa U CHCTEMBI B GECHPOCBETHOM POCCHICKOM ITyGUHKE, ¢ OTCHUTKON K
Gubnetickomy HoBy, BbI3Bana ocrpyio ITONIEMUKY B 00TiecTBe.

3. Jlupeper "BopmaHnckod wersepkm” (Poccum, Opanmuyn, Tepmanum w Vkpaunsi)
AOTOBOPHICE NPOBECTH BCTPedy B MUHCKe, IPH COrNIaCOBAHMY Psia HO3MImiA, B EBpokomuccuu
CHMTAIOT, 9TO0 Ha IIEPeroBopax BO3MOXEH PEINAIONMi NpopsB. Kax 3assm €BpOKOMHCCap 1O
€BPOTICHCKON NONUTHKE COCENCTBA U pacuIupeHus Hoxannec Xan, "Bce y4aCTHHKH TIEPETOBOPOB
TIOHMMAIOT, YTO HPHILIIO BPEMS. HANTH BHIXOJ M3 KpH3uca'.

III. Hannwnre counBeHne ua Temy «lluchmo npesnxenty o npoGiremax cTpanb 00BEMOM
He menee 150 cnos. (40%)
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